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Date : 11-sep-2016

Duestion T.Select the relsted wordfetiers nomber from bhe given altematves.
Bk e i) & e avmer el =t w

Maharashinaindgia: Texas:?

ARRIE - WA - beEa 7

W eansas

TS

;Pgnm

3) Branl

arle

Ajuas

JoEe

Coamect Asvsweer: LISA

TRy

‘Candidate Answer: US4

L

Question 2.5elect the related wond/feters namber from the ghven atiematyves.
S e Foeretr] A1 2 R o neRL = =l g
JEOR__ T T

1!5ruv

ZYWETY

3} BC

&) MPOR

Cosrect Answer: EC:1

Candidate Answer: 8L

‘ues bon 3.5ekect the retsied wordfetiers/number from the given aliematves.
S e Flraitl] 91 2 R sl = el g
TERO-1 3T

Options:

1) 184

) 188

3) 18z

4178

CoaTect Amswer: 182
Candidate Answer: [ MOT ANSWERED |
\Dueshion 4 Find the odd word/etiers/number pair from e given allematves.
e e Fbctl] 91 2 s ey s e S
{A) Grpaare (B) Sphere [T} Rectargie (D) Circle
{a) wef (B) wtewn (C) #WR (D) o=

1!1.

B

o

4D
Coamect Ammwer: E

Mote: The Information Provided here i=s only for
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Candidate Answer: 3

‘Quses ion 3.Find the odd word/etiers number pair from the given allematwves
S Firrsl] A1 2 i ey sl o fm

i-‘l'.ﬁ-E{HI CG (] M (D} M0

ﬂTmt

1]

ajc

1%
Coeresct Amsweer: O
Candidabe Answer: 0

‘Cusestion 6. Find the odd word/fetiers/number pair from the given aflematwes.
Sired et flenectl] 9 2 Fimom ey e O

{8} 410 (8} B-24 {C) 14200} 1838

ha

e

ajc

4D

Coarect Answer: C

Candidabe Answer: I

Cuestion T Armange the foliowing words as per ceder in the dictionary.

S s wd s 4 Sy Ty R e aER BT
1. 812 Siffle 3 Stink 4. Singy

2)1342

3)2143

Ay 2341
Coarect Arswer: 21,43
Candidate Angwer: 21 .43

‘Duestion B.A series is ghren, wilh one berm missing. Choose the comect altermatie from the ghen ones that will compleie the series.

Sy g g A e D A B Tl T Sl A Ser 5 o i ) O )
CLHOM?

1) RA .

2j0z

358

4TC
(CodTect Ammwer: fb
‘Candidate Answer: A&

e bion 8 Which rumber will complste the seres?
w1 Fm SEAT ol T i

11,13,17.15 2395,

Options:

1)25

yaT

3h29

£

Correct Answer: 29
Candidate Answer: 29

Mote: The Information Provided here is only for refe
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May wvary the Original.
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Question 10.Introducing a man, a woman said that, "He is
the son of my mother's brother's father's son." Then how
is the woman related to the man?

Qeh YW o1 URTd 3d §T ek it A &hgl, “gg B J1 & A1 & fUar
& O &1 U3 8| Fa13Y 39 S &1 39 &Y & 1 -4 g ?
Options:

1) Nephew

HefTall

2) Brother
SIE

3) Son

-t

4) Cousin
HERT 9TS

Correct Answer: Cousin

HHERT TS

Candidate Answer: Cousin

HERT HTE
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Question 11.Ram leaves his house at 20 mins to seven in
the morning, reaches Kunal's house in 25 mins. They
finish their breakfast in another 15 mins and leave for
their office which takes another 35 minutes. At what time
do they leave Kunal's house to reach their office?

M 7 991 H 20 e iR eR & Fenerar @ ik 25 e | o
& e ygadl g1 d 15 A # 39T 71901 @eH &vd § 3R fiR
AU TRt & oy Frenet Sird 8| rafera uga- | 3-8 35 e
T 81 3 ST ST & g omel & e F e arst fAehet 2

Options:
1) 7:40 AM

2) 7:20 AM
3) 7:45 AM

4) 8:15AM
Correct Answer: 7:20 AM
Candidate Answer: 7:20 A.M

Question 12.From the given alternative words, select the
word which cannot be formed using the letters of the
given word:

fAefafad faweal § 9 g8 g gy St fag 11y 2reg & 31erRt &1
TN &hech Fg1 STdT ST JehdT 81

LEGALIZATION
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Options:
1) ALERT

2) ALEGATION
3) GALLANT

4) NATAL
Correct Answer: ALERT
Candidate Answer: ALERT

Question 13.1f DECEMBER is coded as EDECBMRE then
FEBRUARY will be coded as

gfeé DECEMBER @t EDECBMRE foRrar siran g, at 3dl srrs &
FEBRUARY @t & feraar sram ?

Options:
1) EFRBUAYR

2) EFBRAUYR
3) EFRBUARY

4) EFRBAUYR
Correct Answer: EFRBAUYR
Candidate Answer: EFRBUAYR
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Question 14.1f, 6x4= 12
4x12=24

12x6= 36

then 6x9="7

afe, 6x4=12,

4x12= 24,

12x6= 36 gr at

6x9= ? & B9 FTd hifoiT ?
Options:

1) 35

2) 24
3) 27
4) 31

Correct Answer: 27/
Candidate Answer: 2/

Question 15.I1f x means +, + means +, - means x and +
means -, then 8x7/-8+40+2 =7

A x BT HT G+, + BT HAA§ =, - AT AT G x SR+ w1 A 8 -,
da8 x 7-8+ 40 = 2 T g ?
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Options:
1)1

2)

4) 44
Correct Answer:

37
5

Qandidate Answer:

Question 16.Find the missing term in the following
question:-

f=faf@a uy d @ d@n 7 fifsg |

1 & 2

& 14 17

] 4

20 25 £+

Options:
1125

2) 37
3) 40

4) 57
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Correct Answer: 40
Candidate Answer: 40

Question 17/.Sunita travels 6 Km towards north east. Then
travels 9 Km towards west. From there, she goes 6 Km
south-west and finally goes 3 Km towards east. How far
is she from her initial position?

AT ITR-gd oht 3R 6 foh. Y. Ferdt g fohe a8 ufga i stk 9
foh. =Y. =it 81 a8l | I8 aferur-ufgy &t otk 6 6. Ht. =erdl 8
3R 3id § gd &t 3Rk 3 foh. ot gerdt 81 ag 3 uRfs e g
Rt g W 2 2

Options:

1) 3Km
3 far.Ht.

2) 6 Km
6 ..

3) 9 Km
9 fok. ot

4) 12 Km
12 o =t

Correct Answer: 6 Km

6 k.ot

Candidate Answer: 6 Km

6 ..
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Question 18.Consider the given statement/s to be true
and decide which of the given conclusions/assumptions
can definitely be drawn from the given statement.
Statement:| Some bags are pockets.

Statement:ll No pocket is a pouch.

Conclusion:l Some bags are not pouches.

Conclusion:ll Some pockets are bags.

Fafafaa uy d ues a1 2t ahe %7 174 8, [Sigdh St gt Fsep/
AT=Idg, | 3R || Fepret 78 €1 syt faaR o ¢ foh axher 9@
€ g 98 9rH=d: od a2t @ {99 udia glar gt smuent Aol
AT & o w0 awhen & € si9-a1 Rfga w0 O 98t A/
AT fAehTaT W11 SehdT &1

Ihed | - S O Sid 3|

awhed || ; hig ot Sta Oeft 78T 81

fAwrd: | o It Aferdt 781 81

fAsre: || o Sie 4 8|

Options:

1) Only conclusion | follows

thad Ay | Aepear g

2) Only conclusion Il follows

thae fAs || Raear g

3) Both conclusion | and conclusion Il follow

gt fasene | 3R 1| FReperd €1

4) Neither conclusion | nor conclusion |l follows

9 &t s | 3R 7 &t A || Paerar &

Correct Answer: Both conclusion | and conclusion |l
follow

g4t fasene | 3R 1| FReperd €1
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Candidate Answer: Only conclusion Il follows

thae s || Faear g

Question 19.Find the number of triangles in the figure.

<1 718 3Tl A fohat Pei € |

/

Options:
1)8

2) 10
3) 12

4) 14
Correct Answer: 14
Candidate Answer: 12

Question 20.In a group of 50 students, 25 play Hockey, 30
play Football, and 8 play neither game. What is the
number of students who play both Hockey and Football?

50 BT chl Yeh hedT J 25 BT glchl Wald &, 30 BT Fedlel
T ¢ 3R 8 BT s W g1 Werd &1 37 ST hl =T Id130
Sl gichl 3R Fealel &l Weld g ?
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Options:
1) 10

2) 11
3) 12
4)13

Correct Answer: 13
Candidate Answer: 13

Question 21.Which answer figure will complete the
pattern in the question figure?

-t IR IATRHfd U STHfd & Ufdwy sl 1 Hdt 8 ?

n

. A"’

[ I..rr;

Y rare

Lo
1 N Wi

fiEen s

AN
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Options:
1)

f':'

R . B
I . ..

3)

Correct ;lnswer‘:

Cal"ld_-ii:l-_ate Answer:

HNote: The Information Provided here i=s only

for reference. It May wary
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Question 22.From the given answer figures, select the one
in which the question figure is hidden/embedded.

& 13 IR Snfaat F & IT S IR SNHfa ot g orad uea
smepfa ffga 81
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Cn_r;_e_-ct_ Answer:

VL
i L‘ﬂ:" 2

F_:a!'l_g_l_idgi_:e Answer:

hl. ]

Question 23.A piece of paper is folded and cut as shown
below in the question figures. From the given answer
figures, indicate how it will appear when opened.

A2 UL aiTpfa & 5 SER SIS &l Atea dfeq 3k @liaA
& 915 ag foha I aneefa ot fearg & ?
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Answer:

ite Answer:
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Question 24.If a mirror is placed on the line MN, then
which of the answer figures is the right image of the given
figure?

gfE Teh U ot MN @7 0= 3@T 9 af &Y 718 3o ATpfaal & 9
F-Ht 3irpfa w s &1 gat ufafars ghift 2

/
h
oA
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Options:
1)

1 ﬂ'.:." ‘\

2)

wwW.sarkariresults.ic

nrw i
ol
ol

e Answer:

Imformation Provided here iz only

for reference. It May wary
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Question 25.In the question, a word is represented by only
one set of numbers as given in any one of the
alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two
matrices given below. The columns and rows of Matrix |
are numbered from 0 to 4 and that of Matrix |l are
numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its
coloumn,e.qg., A can be represented by 02,14,40, etc., and
P can be represented by 56,75,87 etc. You have to identify
the set for the word 'TAKE'.

fr=faf@a uy F fasedl & oy mu dwer-ugg, srert & ot anf
gRIEAY U &, oY foh = Ry mu <t sreggi d 81 sregg | &
g R UfF N T 0T 4TH {8, iR Mg I F 579
deh, 31 ATl & Yeh 18R ! Ugcl IGeh! Ufth 3R a1 & &
T ZRT &A1 ST YahdT &1 I&T80T & forg, ‘A’ &t 02,14,40
31fe g1 g2rfar S gahar & aur 'P' &t 56,75,87 3fe g1 gsifan
SIT Gehdl & | 36! TR & 371aaht 2T 2reg ‘TAKE' & felg Tg &t
Tgdar=-T &

. Mitriel Mptre-ll
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Options:
1) 23, 21, 85,95

2) 30, 33, 87, 88
3) 04, 33, 66, 99

4) 11, 21, 85, 86
Correct Answer: 23, 21, 85, 95
Candidate Answer: 23, 21, 85,95

Question 26.Which Governor General decided to make
English as the medium of instruction in India?

Frafafea § @ a9-8 maR 5Ra 3 vyRa F siish ot fem o
Ared g1 & Aoy forar ?

Options:

1) Lord Wellesley

dre delet

2) Lord Hardinge

dle gifeT

3) Lord Dalhousie

dAls Selghalt

4) Lord William Bentinck

dre faferam s

Correct Answer: Lord William Bentinck

dis faferas df<

Candidate Answer: Lord William Bentinck

dre faferam afden
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Question 27.Who among the following is a renowned
campaigner against manual scavenging who was recently
conferred with the prestigious Magsaysay award?

Frefafaa 7 @ o ufig sifvameat & sl g1y @ &1 Is=
& faeg sm=iad frar ok 33 ufafda 98 wer @ gunfAa
fepaT mar ?

Options:

1) T.M. Krishna

&1 qH. oo

2) Bezwada Wilson

Ivraret fAea

3) Anshu Gupta

GT%]_; LA

4) Sanjiv Chaturvedi

Tuitg aqadl

Correct Answer: Bezwada Wilson

dvraret faea=

Candidate Answer: T.M. Krishna

& qH. G

Question 28.An indifference curve measures
level of satisfaction derived from different
combinations of commodity X and Y.

Uk HATHA agh, X 3R Y & fafea dwal @ s arcft agfe &
TR &l ATTAT & ?
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Options:
1) same
A

2) higher
I

3) lower
hH

4) minimum
gAdH

Correct Answer: same
HHME

Candidate Answer: [ NOT ANSWERED ]

Question 29.Who among the following was the first to
make use of artillery in warfare in medieval India?

e dleiiH ¥R | fAefafaa 7 9 e uget IR gg A dtal o1
AT fohar ?

Options:

1) Babur

CICE

2) Ibrahim Lodi
geifeH et
3) Sher Shah Suri

R 2AE TG
4) Akbar
Jehae

Correct Answer: Babur
GIELY

Candidate Answer: [ NOT ANSWERED ]

Provided here i=s only for reference. It May wvary the Original.
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Question 30.Person who is colour-blind cannot
distinguish between

qurf=¢f egfeh e T & A A8 e UraT & ?
Options:

1) Black and yellow
&Tet 3R diet

2) Red and green
Tt 3R 8%

3) Yellow and white

diet 3R ¥the

4) Green and blue

& 3R it

Correct Answer: Red and green

AT 3R g2

Candidate Answer: Red and green

T 3R 82

Question 31.During the motion of a projectile fired from
the earth surface,

gt A gag A wR R myugdm A nfadere,
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Options:
1) its kinetic energy remains constant

It fas Foif AR TEdT 8

2) its momentum remains constant
Igah dan @R Earg
3) vertical component of its velocity remains constant

I 377 &1 ed g AR war g

4) horizontal component of its velocity remains constant

Ich a7 o1 aifast ueah f[RR | g

Correct Answer: horizontal component of its velocity
remains constant

I a7 & afas uesh fAR w|ar e
Candidate Answer: [ NOT ANSWERED ]

Question 32.Which of the following waves cannot be
polarised?

fAafofEa d @ -8 a3 ot yfaa 8! fahar 5 gedar ?
Options:

1) Radio

Hear

2) Ultra violet
QRTSTHT

3) Infrared
Hddxh

4) Ultrasonic
e

Correct Answer: Ultrasonic
qarseg

Candidate Answer: [ NOT ANSWERED ]

Provided here i=s only for reference. It May wvary the Original.
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Question 33.0f the following commonly used materials,
the one that is not an alloy is

EIa: UG g aret Aefafed geryf d @ slq-ar fAgearg
Tl 8 ?

Options:

1) Steel

HTd

2) Brass
e

3) Bronze
oLl

4) Copper
GICH

Correct Answer: Copper
GICI

Candidate Answer: Copper
GIEL

Question 34."Himayat" is a training cum-placement
programme for unemployed youth in the State of

fohg wrou A 'fgamaa ' SRR gaen! & fog uas ufreror g Fate=
FEdHA B ?
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Options:

1) Haryana

giaron

2) Punjab

ENIC)

3) Jammu and Kashmir
STHI-hHR

4) Himachal Pradesh
fewmae uear

Correct Answer: Jammu and Kashmir

STH-hHR
Candidate Answer: [ NOT ANSWERED ]

Question 35."Agha Khan Cup" is associated with the
game of

T @ &Y fhg W @ g&fda g ?
Options:

1) Cricket

fohdhe

2) Football

P TCI]

3) Lawn Tennis
GIERACE:]

4) Hockey
gichl

Correct Answer: Hockey

gicht
Candidate Answer: Hockey

glchl
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Question 36.Absolute Zero is defined as

"URH R ol fohd TR uRwifta fohar Sirar & 2

Options:

1) The temperature at which all molecular motion ceases
gg aruar o/ R g snfoaes nfa d< gt it 8

2) At which water boils at 298K

oI o= &7t 298 K UR Iaidl &

3) At which liquid Helium boils

g IR e giferaw Sgaanr g

4) At which the volume becomes zero

S U= S1aaH I 8t ST 8

Correct Answer: The temperature at which all molecular
motion ceases

a8 aruHE 5 R 99 anfodes nfy | 8t s @

Candidate Answer: The temperature at which all
molecular motion ceases

gg arua o ) g snfoaes nfa d2 gt st &

Question 37.Nitrogen fixation is a process of

Arggrer diffrchlenvor G ufehar g forasd
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Options:

1) Assimilation of nitrate
AT5¢E &I WiTfIehuT gidT &

2) Utilisation of nitrogen gas

qTselSi 719 &1 3udlT gidT

3) Conversion of organic nitrogen to proteins
3ifffAeh A3 WidH | $uiafd gidt 8

4) Conversion of molecular nitrogen to ammonia
3Tfudes ARete sEif-ar # suiafd gidt 8

Correct Answer: Conversion of organic nitrogen to
proteins

AR A WidH | $uiafd gidi 8

Candidate Answer: [ NOT ANSWERED ]

Question 38.Which among the following is called as 'Land
of the midnight Sun'?

fAafafaa 7 | e 'de sifr g s 99 serSar g ?

Options:
1) Norway
EIG]

2) Sweden
wtes

3) Denmark
ST

4) France
Thid

Correct Answer: Norway

Aard
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Candidate Answer: Norway

ard

Question 39.Among the following which one lays eggs
and does not produce young ones directly?

fAefafaa & @ ol=-a1 Sfa o ¢ar g ok yxera: a<d der =181
hdl ?

Options:

1) Echidna

gfher

2) Kangaroo
CIES

3) Porcupine
gt
4) Whale

gl
Correct Answer: Echidna
ufehear

Candidate Answer: Echidna

ufeheat

Question 40.The mountain range which divides the North
and the South India is

3R 3R gfor uRa &t eA-dt uda e gud Fdl g ?
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Options:

1) Himalayas
feaTera

2) Western ghats
afgHt are

3) Vindhyas
faren

4) Satpura
Hagst

Correct Answer: Vindhyas
faren

Candidate Answer: Satpura

qdgsTt
Question 41.Bronze is an alloy of

i feradh! s urg 82
Options:

1) Copper & tin

drar ofk fea

2) Copper & zinc

drar R s&ar

3) Copper & iron

GICIRCICESIG]

4) Iron & nickel

et 3k Perer

Correct Answer: Copper & tin
dfer ofk féa

Candidate Answer: Copper & zinc
diar 3R St
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Question 42.In which of the following States is Dampa
Tiger Reserve situated?

Fafafea d 4 g rso A e esmR Rod' A g 2
Options:

1) Assam

HYH

2) Karnataka
FAleh

3) Mizoram
fAasiRa

4) Orissa
Jerr

Correct Answer: Mizoram

IESIES

Candidate Answer: Assam
JHH

Question 43.Japanese folk tradition and ritual, with no
founder or single sacred scripture, is popularly known as

SITOTHT efteh URERT 3R SBH, ST &lg §¥aaes a1 ol Uk
ufds e gry T8l ¢, g A uafaa g ?
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Options:

1) Taocism
arsitare

2) Zoroastrianism
SIRTEETe

3) Shintoism
fRr=ctare

4) Paganism

LI [5)

Correct Answer: Shintoism

frctarg

Candidate Answer: Shintoism

fretare

Question 44.In IT the technique that is used to increase
the bandwidth is

33 & & 'defay’ gem & foau foha ao-le o1 swmre fohar Siran
g7

Options:

1) Memory Management

AR AdwHve

2) Memory Interleaving
EuIECECiIE

3) Memory Intraleaving
AT g=erefifa

4) Memory Leaving

AR e

Correct Answer: Memory Interleaving

AR greatifan
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Candidate Answer: Memory Intraleaving

AR gegTetfeT

Question 45.A motion that seeks to reduce the amount of
demand presented by government to ¥ 1/- is known as

AR GIRT Ud 71T I A HH Teh T 1 3 daeft uara ot
T Fed 87
Options:

1) Disapproval of policy Cut
giferd! & sraAfa &Y St

2) Token cut
G C T |

3) Economy cut

Araeafiar st

4) Vote on account

GICIGHE]

Correct Answer: Disapproval of policy Cut

giferd! 7 srgmafa &t el
Candidate Answer: [ NOT ANSWERED ]

Question 46.The State which produces largest number of
orchids in India is

YR & Shiad Iog § sifderan e & siffches 8l & ?
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Options:

1) Assam

EH

2) Arunachal Pradesh
BT TeeT

3) Meghalaya

ATy

4) Sikkim
fafera

Correct Answer: Sikkim

fafera

Candidate Answer: Sikkim

fafeera

Question 47.Which one of the following bio reserves of
India is not included in the World Network of Biosphere
Reserve?

YRd # A=faf@a d @ sl sta-Red, ‘g€ deas smw
Jraifera Red' & anffe 38 872

Options:

1) Sunderbans

LGSER!

2) Gulf of Mannar

TR &l @rs!

3) Nandadevi

Tered!

4) Corbett
Free
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Correct Answer: Corbett

COC T

Candidate Answer: Gulf of Mannar

TR &l @rat

Question 48.What was 'Kamagata Maru'?

"SIHTTIAT {I" &7 o7 ?
Options:

1) An army unit

U 4fFs gfae

2) A harbour

Uch I

3) A ship

T Oid

4) An industrial township

Ueh 3ftertfires IR

Correct Answer: A ship

U Od

Candidate Answer: A ship
T Uid

Question 49.Redistribution of income in a country can be
brought about through

et 21 7 3y o1 gAfdaror fohg uaR fhar st aesdr g 2
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Options:
1) Progressive taxation combined with progressive
expenditure

IR HAU SR 91y # IO 4y

2) Progressive taxation combined with regressive
expenditure

IR hAU SR 91y # UdTadr g

3) Regressive taxation combined with regressive
expenditure

U el 3R 91y # ucarad! g

4) Regressive taxation combined with progressive
expenditure

TATad ! ehelelT= SR TTy 7 IR &g

Correct Answer: Progressive taxation combined with
progressive expenditure
3R ShAY 3R 91y # ITi<R &g

Candidate Answer: [ NOT ANSWERED ]

Question 50.A motion moved by Member of Parliament
when he feels a minister has committed a breach of
privilege of the House by withholding facts of a case is
called

o1 forddt 9ag e o ag o o fondt #5 3 amaat & auf &t
BUT TR 95 ol fagtwrfdarr o7 fohar €, at 39 g1 o man

UEITd ST ShgdTdT & ?
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Options:

1) No confidence motion
stfasyr vEara

2) Censure motion
EEARCESICE

3) Privilege motion

fashofiesr e

4) Cut motion

Thetdt u&drd

Correct Answer: Privilege motion

fashaifiesr uamEa

Candidate Answer: Censure motion

IECARLSIC]

Question 51.If 7 spiders make 7 webs in 7 days, then 1
spider will make 1 web in how many days ?

afe 7 aarfeui 7 Ra d 7 S s9a €, @t 1 Aavet 1 St fohaat
e & gt 2

Options:

1)1

2) 7/2
3)7
4) 49

Correct Answer: /
Candidate Answer: /
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Question 52.A fan is listed at Rs. 150 with a discount of
20% . What additional discount must be offered to the
customer to bring the net price to Rs. 108 ?

U U &l gt G 20% &Y B & 919 Rs. 150 g1 U8 &l
fohat sifafkea e & oy & 2% 9= Rs. 108 gt &1y |
Options:

1)111/9%

2) 15%

3) 8%

4) None of these

99 QIS ol

Correct Answer: 11 1/9%

Candidate Answer: None of these

3T d IS T8l

Question 53.Three numbers areintheratio1:2: 3 and
the sum of their cubes is 4500 .The smallest numbers is

dHE=E 12 : 3 & U H g 3R I g1 o1 g1 4500 g1
ged B T FET g ?

Options:
1) 4

2)5
3)6

4)10
Correct Answer: 5
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Candidate Answer: 5

Question 54.1f by selling an article for ¥ 390 a shopkeeper
gains 20% , then the cost is

afe &1s a%g ¥ 390 ¥ a9 WR g@HER &t 20% &1 a1 glar g, at
Ih! AN T8 ?

Options:
1) % 370

2) ¥ 325
3) 7350

4) ¥ 300
Correct Answer: ¥ 325
Candidate Answer: ¥ 325

Question 55.There is a 4% increase in volume when a
liguid freezes to its solid state. The percentage decrease
when solid melts to liquid again, is

ST I3 d¥dl U1 S a1 § 57 ST & df 39k Aaq #
4% &Y gfg Bt STelt §1 319 & a199 a’at 7 fUge IR Smga— |
fopaa ufasa &t ghft 2
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Options:
1)

2) 4%
3)

4)
3 l;%
Correct Answer:

Candidate Answer:

11
Jﬁ%

Question 56.A man travelled a distance of 61 km. in 9
hours , partly by walking at speed of 4 km / hr and partly
on bicycle at speed of 9 km / hr. The distance covered by
walking is

Ueh <gfth A 31ifeh ®q & 4 fF Y. /gver fh TR dea gaas
37 31ifren wg @ 9 foh . /aver adfha WA 9 g § 61
fer. =Y. &Y ar=r 9g fi | dea o fhaft g aa Hr g ?
Options:

1) 16 Km

16 for .

2) 12 Km
12 for .
3) 15 Km
15 fop .

4) 17 Km
17 fop 1.
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Correct Answer: 16 Km

16 for.#t.

Candidate Answer: 16 Km

16 fep .

Question 57.The rate of simple interest per annum at
which a sum of money double itself in 16%: yrs. is

TERUT G151 ! 9g a1fties g2 &t gl f[orad &l afy 1626 a
# gt g1 St ?

Options:

1) 4%

2) 5%

3) 6%

4)

Correct Answer: 6%
Candidate Answer: 6%

Question 58.1f a+ b + ¢ =0, then the value of ad + b3+ ¢3
is

gfiea+b+c=0,d a3+ b3+ c3 &AM I AfST ?
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Options:
1) abc

2) 2abc
3) 3abc

4) 0
Correct Answer: 3abc
Candidate Answer: 3abc

Question 59.

1 o
The L'ﬂ'.'li!'ﬂ_rl:J.;+.1l_|rl:—l & xalis

(i +r | {Ti—1 + x5 | FT 0 7
Options:
1)

X' ex i

2)

1
K+¥ ¢

3)

1 '
LR

4

X+X%*

Correct Answer:
Xi e X!

Candidate Answer: [ NOT ANSWERED ]
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Question 60.In AABC , DE | AC. Where D and E are two
points lying on AB and BC respectively . If AB = 5 cm and
AD=3cm,thenBE: ECis

AABC & DE I| AC 81 39 D 3R E swer: AB 3R BC fa @t
fagglaf AB=5aHf siRAD=3@#. G BE:ECa§?
Options:

1) 2:3

2) 3:2
3) 5:3

4) 3:5
Correct Answer: 2:3
Candidate Answer: 2:3

Question 61.PT is a tangent to a circle with centre O and
radius 6 cm . If PT is 8 cm then length of OP is

PT, Ue gcd foraent &z O ofR Brwar 6 @1 8, &t wef [ g1
afe PT 8 .51 g, at OP &t erwars fopa=t ghft 2

Options:

1) 10 cm

10 &

2) 12cm
12 @
3) 16 cm
16 4.4
4) 9 cm
03t
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Correct Answer: 10 cm

10 &4t

Candidate Answer: 10 cm

10 &4t

Question 62.

4 " _ 3minf + ZcosP
if tand =—, then the valug pf ————— Ir
3 Fsind — Zeosd

Ising + Zcos?

T W feeeT g
Isinf — Zcos@ T

&
Tt ta.r:ﬂ"—t,a“'

Options:
1)1/2

2)

1
I3

3) 3

4) -3
Correct Answer: 3
Candidate Answer: 3

sults.

io
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Question 63.In a school, 391 boys and 323 girls have
been divided into the largest possible equal classes, so
that each class of boys numbers the same as each class
of girls . What is the number of classes ?

Uo faemera 7 391 sl ik 323 arefdhal &t gyurdyg gad
TSt guE et J fawfora fovar mar & oo aeal & uda
el &t T defehal hY Udeh hedl & SRTER g 713 | heEfTai <l
gt fehat 8 2

Options:

1) 23

2) 19
3) 44

4) 17
Correct Answer: 17/
Candidate Answer: [ NOT ANSWERED ]

Question 64.The average temperature of Monday ,
Tuesday , Wednesday and Thursday is 60° , The average
for Tuesday , Wednesday , Thursday and Friday is 63°; If
the ratio of temperature for Monday and Friday is 21 : 25,
then what is the temperature of Friday ?

IR, HTedR, YR 3R ggWfdar &1 3f9d 919891 60° ¢ |
HITaR, YR, JeefdaR 3R YEhaR i 1Ed dTaAT 63° g1
gfe GHaR 3R AR & JIOH &1 3T 21 : 25 & af YhaR
HTATHH T8 ?



wwW.sarkariresults.i

Options:
1) 70°

2) 73°
3) 75°

4) 78°
Correct Answer: /75°
Candidate Answer: /5°

Question 65.

If,L+L =_2_  thenthe value of p*-g'is
P4 p+g

ﬂ"l‘..:_-:—PLI“.HT B-q T F I T &
Options:
1) p-q

2) pq
3) 1

4) 0
Correct Answer: 0
Candidate Answer: 0
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Question 66.If x =93,y = 93, z = 94 then the value of x2-
y2 + 10xz + 10yz is

afe x=93,y=93,z=94 at x2- y2+ 10xz + 10yz HIAF FT ¢ ?

Options:
1) 104784

2) 147840
3) 174840

4) 184740
Correct Answer: 174840
Candidate Answer: 174840

Question 67.D , E, F are the mid - points of the sides BC,
CA and AB respectively of a AABC . Then the ratio of the
areas of A DEF and AABC is

D,E,F Qe f3ragst ABC &t agairaif BC, CA 37k AB & s3I Heq
fag 8, a1 ADEF 3R AABC & &iAthedl &l 3IUTd a1 81T ?

Options:
1) 1/2

2) 1/4
3) 1/8

4)1/16
Correct Answer: 1/4
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Candidate Answer: 1/4

Question 68.A circle has its centre at O . A tangent drawn
from a point P, which is situated outside the circle,
touches the circle at A. If PA = 4 cm & PO=5 cm, then the
length of the radius of the circle is

Uch gd &bl g O & | gd & a1ge f¥a fag P 9 ua wef 3@t
EIt 773 ¢ STt ga ot A o= el et g1 afk PA = 4 @.H1.31R PO
= 5 Q.. at ga i BFwar Fi wdars fhat & 2

Options:

1) 1 cm

1 9.4
2) 2cm
2 9.1

3)3cm
3 4.4

4) 4 cm
4 8.7,

Correct Answer: 3 cm

3 4.4

Candidate Answer: 3 cm

3 4.4

Question 69.If sec (4x - 50°) = cosec(50° - x), Then the
value of x is

afe sec (4x - 50°) = cosec(50° - x), dt x T AF T § ?
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Options:
1) 45°

2) 90°
3) 30°

4) 60°
Correct Answer: 30°
Candidate Answer: 30°

Question 70.An inverted conical shaped vessel is filled
with water to its brim. The height of the vessel is 8 cm
and radius of the open end is 5 cm . When a few solid
spherical metallic balls each of radius %2 cm are dropped
in the vessel , 25% water is overflowed. The number of
balls is:

Uh el UFAThR T g & AdTeTd 9T §3AT g1 T ohl HdTS

8 9.1 g iR ot AR F s 5 @4 g1 aft » |t B arst
T 3 el - 8 STl S11d & df 25% T 91gx Hehel S 81

et <ht T fohat g ?

Options:
1) 100

2) 400
3) 200

4) 150
Correct Answer: 100
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Candidate Answer: 100

Question 71.The shadow of a tower when the angle of
elevation of the sun is 45°, is found to be 10 m longer
than when it was 60° . The height of the tower is

Uk ClaR &l BT, 51d G &1 31121 45° 10 =, vt gi<t g It
ciar & BT 8 54 I=1diT 60° §ldT g1 €lax &t T3 fohd=il g ?
Options:

1) 5(+3-1)m

5(v3-1) #t.

2) 5(v3+1)m

5(v3 + 1) #t.

3)10(¥3-1)m

10 (v3-1) #t.

4)10(¥V3+1)m

10 (v3 + 1) #t.

Correct Answer: 5(v3+ 1) m

5(v3 + 1) #t.

Candidate Answer: 10 (v3-1) m
10 (v3-1) #t.
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Question 72.The following pie diagram gives the marks
scored by a student in different subjects- English, Hindi,
mathematics , science and social science in an
examination . Assuming that the total marks obtained for
the examination are 540 , answer the question

fAfefafed o aré & e o= grr fafa= fawat - sish, B=,
nfora, fasm ik amnfSiss faam d ura sief &t gafar mar 81
a1 R aier & el UTdich 540 €, I8 Ad gU i & ueAt &t
IR 5o |

The marks scored is English , Science and Social science
exceed the marks scored in Hindi and Mathematics by

1S, fasm ik arfSies fasm A ure sies fB=dt ofik fora |
UTed 3! & foha=t aifdran & 2

Options:

1) 10%

2)

ili'a:'-“

3) 11%
4!

11—
9'!



wwiW .sarkariresults.ic

Correct Answer:

l']‘-
1-%
9

Candidate Answer: [ NOT ANSWERED ]

Question 73.The following pie diagram gives the marks
scored by a student in different subjects- English, Hindi ,
mathematics , science and social science in an
examination . Assuming that the total marks obtained for
the examination are 540 , answer the question

RAfefefea oE a9 & ve o= grr fafe= fAuat - sist, 2=,
o, fasm ofik armfore fasm & v sfel ot a=ifar mar 8|
711 o gtern & gt i 540 §, U8 "7d g0 AR e ueAt &
I e |

The subject in which the student scored 105 marks is

a1 3 forg fAwa § 105 3ies ure o ?
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Options:
1) English
st

2) Hindi
fe=dl

3) Mathematics
nfora

4) Science

fasm=

Correct Answer: Hindi

3

Candidate Answer: Hindi

X



wwW.sarkariresults.ic

Question 74.The following pie diagram gives the marks
scored by a student in different subjects- English, Hindi,
mathematics , science and social science in an
examination . Assuming that the total marks obtained for
the examination are 540 , answer the question

fAfefafed o aré & e o= grr fafa= fawat - sish, B=,
nfora, fasm ik amnfSiss faam d ura sief &t gafar mar 81
a1 R aier & el UTdich 540 €, I8 Ad gU i & ueAt &t
IR 5o |

The difference of marks between English and Science is
the same as between

&1 & fawat & sih! &1 3iar sttt 3R AT & sl & 3R &
A § ?
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Options:

1) Science and English

fagm ik siTsh

2) Hindi and Social science

2=} ok amifSres famm=

3) English and Hindi

TS SR fg=<t

4) Mathematics and Social science

nfora aftt o A==

Correct Answer: Mathematics and Social science

Tfora oftr gmrferes A=

Candidate Answer: Science and English

fagma sk siwst
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Question 75.The following pie diagram gives the marks
scored by a student in different subjects- English, Hindi,
mathematics , science and social science in an
examination . Assuming that the total marks obtained for
the examination are 540 , answer the question

fAfefafed o aré & e o= grr fafa= fawat - sish, B=,
nfora, fasm ik amnfSiss faam d ura sief &t gafar mar 81
a1 R aier & el UTdich 540 €, I8 Ad gU i & ueAt &t
IR 5o |

The marks scored in Hindi and Mathematics exceed the
marks scored in English and Social science by

=8 st niforg & ur sies sl ofik amfores fasm= & e
3ich! & feha=t sifdrer € 2

Options:
1) 30

2) 40
3) 60

4) 75
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Correct Answer: 60
Candidate Answer: [ NOT ANSWERED ]

Question 76.In the following question, out of the four
alternatives, choose the word which best expresses the
meaning of the given word and click the button
corresponding to it.

INNOCUQUS

Options:

1) INNOCENT

2) INNOVATIVE

3) INOFFENSIVE

4) INNERMOST

Correct Answer: INOFFENSIVE
Candidate Answer: [ NOT ANSWERED ]

Question 77.In the following question, out of the four
alternatives, choose the word which is opposite in
meaning to the given word and click the button
corresponding to it.

INFIRM

Options:

1) STRONG

2) WEAK

3) SUPPORTER

4) BELIEVER

Correct Answer: STRONG
Candidate Answer: STRONG
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Question 78.Four words are given, out of which only one
word is spelt correctly. Choose the correctly spelt word
and click the button corresponding to it.

Options:

1) Correspondent

2) Correspondant

3) Correspendent

4) Corespondent

Correct Answer: Correspondent

Candidate Answer: Correspondent

Question 79.In the following questions, one part of the
sentence may have an error. Find out which part of the
sentence has an error and click the button corresponding
to it. If the sentence is free from error, click the "No error”
option.

Computers give us (A) / the easier access (B) / to
information. (C) / No Error (D)

Options:

1) A

2) B

3)C

4)D

Correct Answer: B

Candidate Answer: B
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